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 Eighth Methodالطريقة الثامنة    

  Tabular Integrationالتكامل المجدول       
 

( يمكن اشتقاقها عدد دالة )( وهي تقوم على أساس اختيار هذه الطريقة مختصرة لطريقة )

( بحيث يمكن أن نكاملها بعدد مرات اشبببببتقا  من المرات إلى تصبببببرا وبببببررا واختيار الدالة ا خر  )

 الدالة ا ولى

Example (47):  By Tabular Integration Evaluate     

 

Sign 

 الاشارة

 and its  derivatives 

 ومشتقاتها الدالة 

 and its integrals 

 وتكاملاتها الدالة 

+   

   

+   

 0  

 

         

 

 

Example (48):  By Tabular Integration Evaluate     

 

sign   

+   

   

+   

   

+ 0  
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2x xe
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xe
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xe

xe

cexeexdxexI xxxx   2222
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)(xf )(xg

3x xsin

23x xcos

x6 xsin

6 xcos

xsin

cxxxxxxxdxxxI   sin6cos6)sin(3)cos(sin 233

cxxxxxxxI  sin6cos6sin3cos 23
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................................................................... ... .....................................................  

Exercise (5-1): Evaluate the integrals use integration by part (udv) or tabular 

integration method.            Exe. (1-12) page- 389  – questions(1-22) blue book 

No. Question Answer 
 

1   

 

2   

 

3   

 

4  

 

 

 

5   
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7   

 

8   
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10   

 

11   

 

12   

 

 

13   

 

 

14   

 

15   

 

16   

 

17   
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18   

 

19   

 

20   

 

21  
 

 

Exercise (5-2): Evaluate the integrals use integration by part (udv) or tabular 

integration method.                                          Exe. (34) page- 288  – questions(3-18) book al-samarrai 

No. Question Answer 
 

1   

 

2   

 

3   

 

4   

 

5 a.  

b.  

a.  

b.  

 

6   

 

7   

 

8   

 

9   

 

Exercise (5-3): Evaluate the integrals use integration by part (udv) or tabular 

integration method                               Calculus Exe. (8.1) - page 527 – questions(1-38) 

No. Question Answer 

Integration by Parts 

Evaluate the integrals in Exercises 1-24 using integmtion by parts (udv) method                                
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2   

 

3   

 

4   

 

5   

 

6   

 

7   

 

8   

 

9   

 

10   

 

11   

 

12   

 

13  
 

 

14  
 

 

15   
 

16   

 

17   

 

18   

 

19   

 

20   

 

21  
 

 

22  
 

 

23   

 

24   

Using Substitution 

  dcos cI  

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


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Evaluate the integrals in Exercises 25-30 by using a substitutioo prior to 

integration by parts. 
 

25   

 

26  
 

 

27  
 

 

28   

 

29   

 

30  
 

Evaluating Integrals 

Evaluate the integrals in Exercises 31-50. Some integrals do not require 

integration by parts. 
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37 
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